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DISTANCES FROM SIDE STAKES FOR CROSS
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TRIGONOMETRIC FORMULAZE

. A
b (44 t b b T
Right Triangle Obligue Triangles
Solution of Right Triangles
b

o - B a ¢
For Angle A. sin = o co= ?,mn= i » cOt = —, 86C = 7, cosec =

Given | Required | e
tanA=;= cotB, 6 =+/a° F 0% = “1’1 = !

A

c

L

a
2
at
4 - e e [ B
sin A = —=cos B, b=/ (¢+a)(c—a) =c\/1—¢—’
B=90°—A, b = acotd, o= —
sin 4.
b
cos A.
B=90°—A,a =csind,b=ccos 4,
Solution of Oblique Triangles
_asinB sy SRS _asinC
g linA'C_lso (A+B)'c—|inA
inpo 2804 o 00 (44 B0 =200
‘ sin 4
A+ B=180°— _ P a—>)tan § (A+B)
+ 180°— O, tan }(4A—2B) FES ’

B=90°—A,a =btan 4, c=

asin O
sin A
==
N be ’
sin} B= fﬁfﬂ‘éc_—c),ozlso°-4A+B)

a

a b, ¢ | Ares 8 a+2b+c. area = \/3(5—a) (8—0) (—0)

A, b, c | Ares area = b—‘—';fi

Sfia——tg—-i-g,liniA:

* 4in B si
A,B,C,a| Ares area =¢_'1211ﬁ1;_i'_

REDUCTION TO HORIZONTAL
Horizontal distance=Slope distance multiplied by the
cosine of ical angle. Thus: slope distance =319. 4ft.
5 Page IX. cos 5° 10/=
5969, oe=319,4>(.?950=818.m ft.
Horizontal distance also=Slope distance minus slope
distance times (1—cosine of vertical angle). With the
rnme ﬂzlttui-es ;s “gn et‘}wc prie:e%},nl%/ e:nmplle. % follow-
i ng resiu 3 O ned. Cosine =, 9950, 1. =
Horizontal distance gy’ 57 0041=1.31, 310.4—1.31=318.09 ft. 5
When the rise is known, the horizontal distance is approximately:—the slope dist-
ance less the square of the rise divided by twice the slope distance. Thus: rise=14 ft.,

slope distance=3026 ft. Horizontal distance=3026— 24214
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